CONT. ALUM. RECESSED
FRAME (J3A001)

CONT. FLEXIBLE VINYL
GASKET (J3D504)

CONT. ALUM. SLIDE-IN
UPSTAND (J3B001) \

21/8"

[54mm]

113/16"
[46mm]

|

N\

T
[25mm]

?

FIN. FLR. AND BACKFILL _
(BY OTHERS)

1/4” x 2 1/4” [M6x56] HEX ]

/

HEAD CONCRETE SCREW (7

PER FRAME @ 18" [457mm]

3/16" x 2 1/4" [M4x56] FLAT
HEAD CONCRETE SCREW (7
PER SIDE @ 18" [457mm] O.C.)
(JK002)

——— CONT. ALUM. FLUSH

WALL FRAME (J3A200)

S~ CONT. ALUM. GLIDE HALF

PLATE (J3C006)

0.C.) (JK0O1) 2 3/4" "
I~ [70mm]
MIN. BLOCKOUT [26mm}
300-A02-025
NOTE: "
TO DETERMINE BLOCKOUT DEPTH, JOINT WIDTH HOR|Z(';A,\?|-\,/AEMEI:I/EF\>—T|CAL
DEDUCT THICKNESS OF THE FLOOR Us Tmm T US | mm [ US [ mm
FINISH FROM FRAME HEIGHT
1" 25 1/8" 2 1/8" 3
FINISH: MILL
PROJECT: DATE: 4-20-04
APPLICATION-

CUSTOMER:

LOCATION:

RECESSED FLOOR/WALL CONDITION
NO BUMP GLIDE PLATE SEISMIC SYSTEM

SCALE: 1:2

inpro.

DOC: CADJM.016/R2 . -
For More Information Visit: Inprocorp.com




CONT. FLEXIBLE VINYL
GASKET (J3D504)

CONT. ALUM.SLIDE-IN
UPSTAND (J3B001)

CONT. ALUM. RECESSED
FRAME (J3A002) \

3 5/8"
[91mm]

113/16"
[46mm]

N

T
[25mm]

1

FIN. FLR. AND BACKFILL v
(BY OTHERS)

1/4” x 2 1/4” [M6x56] HEX — |

HEAD CONCRETE

;

SCREW (7 PER FRAME @
18" [457mm] O.C.) (JK0O1)

3 1/4"

MIN. BLOCKOUT

~— [83mm] —

2"

T I51mm]

3/16" x 2 1/4" [M4x56]
FLAT HEAD CONCRETE
SCREW (7 PER SIDE @
18" [457mm] O.C.) (JK002)

S~ CONT. ALUM. FLUSH
WALL FRAME (J3A200)

~~— CONT. ALUM. GLIDE HALF
PLATE (J3C007)

CUSTOMER:

300-A02-050
NOTE: *
TO DETERMINE BLOCKOUT DEPTH, JOINT WIDTH HOR|Z(';/I|\(1?|-\,/AE_MEI:I/E|:\>_T|CAL
DEDUCT THICKNESS OF THE FLOOR US T mm | uUsS | mm | US | mm
FINISH FROM FRAME HEIGHT
2 | 51 3 | o [ 14 | 6
FINISH: MILL
PROJECT: DATE: 4-20-04 .
APPLICATION-
RECESSED FLOOR/WALL CONDITION SCALE: 2 'nprOe

LOCATION:

NO BUMP GLIDE PLATE SEISMIC SYSTEM

DOC: CADJM.016/R2

For More Information Visit: Inprocorp.com



CONT. FLEXIBLE VINYL
GASKET (J3D504)

CONT. ALUM. SLIDE-IN
UPSTAND (J3B001)

CONT. ALUM. RECESSED
FRAME (J3A003) \

51/16"
[128mm]

113/16"
[46mm]

T
[25mm]

f

FIN. FLR. AND BACKFILL —"]
(BY OTHERS)

1/4” x 2 1/4” [M6x56] HEX HEAD —

N

CONCRETE SCREW (7 PER

FRAME @ 18" [457mm] O.C.)
(JK0O1)

3 3/4"
[95mm]
MIN. BLOCKOUT

|—

—_—

3"

[75mm]

3/16" x 2 1/4" [M4x56]
FLAT HEAD CONCRETE
SCREW (7 PER SIDE @
18" [457mm] O.C.) (JK002)

~— CONT. ALUM. FLUSH
WALL FRAME (J3A200)

[™~— CONT. ALUM. GLIDE
HALF PLATE (J3C008)

300-A02-075

NOTE: MOVEMENT =+
TO DETERMINE BLOCKOUT DEPTH, JOINTWIDTH | |, ~o >ONTAL | VERTICAL
DEDUCT THICKNESS OF THE FLOOR US T mm | uUsS | mm | US | mm
FINISH FROM FRAME HEIGHT

3" 76 9/16" 14 3/8" 10
FINISH: MILL
PROJECT: DATE: 4-20-04

APPLICATION-

CUSTOMER:

LOCATION:

RECESSED FLOOR/WALL CONDITION
NO BUMP GLIDE PLATE SEISMIC SYSTEM

SCALE:

DOC: CADJM.016/R2

- Inpro.

For More Information Visit: Inprocorp.com




CONT. FLEXIBLE VINYL
GASKET (J3D504)

CONT. ALUM. SLIDE-IN
UPSTAND (J3B001)

CONT. ALUM. RECESSED
FRAME (J3A004) \

6 9/16"

[167mm]

113/16"
[46mm]

T
[25mm]

?

FIN. FLR. AND BACKFILL —
(BY OTHERS)

1/4” x 2 1/4” [M6x56] HEX —
HEAD CONCRETE

SCREW (7 PER FRAME @
18" [457mm] O.C.) (JK001)

NOTE:

TO DETERMINE BLOCKOUT DEPTH,
DEDUCT THICKNESS OF THE FLOOR
FINISH FROM FRAME HEIGHT

FINISH: MILL

41/4 4

[108mm]

MIN. BLOCKOUT [102mm]

300-A02-100

3/16" x 2 1/4" [M4x56]
" FLAT HEAD
CONCRETE SCREW
(7 PER SIDE @ 18"
[457mm] O.C.) (JK002)

~— CONT. ALUM. FLUSH
WALL FRAME (J3A200)

~— CONT. ALUM. GLIDE
HALF PLATE (J3C009)

MOVEMENT =+
JOINT WIDTH HORIZONTAL

VERTICAL

us mm UusS mm UuS

mm

4" 102 3/4" 20 1/2"

13

PROJECT:

CUSTOMER:

LOCATION:

APPLICATION-
RECESSED FLOOR/WALL CONDITION
NO BUMP GLIDE PLATE SEISMIC SYSTEM

DATE: 4-20-04

SCALE: 1:2

DOC: CADJM.016/R2

inpro.

For More Information Visit: Inprocorp.com




[46mm)] |

CONT. ALUM. FLUSH

CONT. FLEXIBLE VINYL
GASKET (J3D504)
CONT. ALUM. SLIDE-IN
UPSTAND (J3B001)
CONT. ALUM. RECESSED
FRAME (J3A005) 99/16"
[243mm]
113/16"

S\

N ]

1"
[25mm]

N

FIN. FLR. AND BACKFILL

51/4"

WALL FRAME (J3A200)

CONT. ALUM. GLIDE
" HALF PLATE (J3C010)

6" 3/16" x 2 1/4" [M4x56] FLAT
(BY OTHERS) — [133mm] = [M52mm) T HEAD CONCRETE SCREW (7
MIN. BLOCKOUT PER SIDE @ 18" [457mm] O.C.)
1/4” x 2 1/4” [M6x56] HEX HEAD (JK002)
CONCRETE SCREW (7 PER
FRAME @ 18" [457mm] O.C.)
(JK0O1)
300-A02-150
NOTE:
TO DETERMINE BLOCKOUT DEPTH, JOINT WIDTH MOVEMENT *
HORIZONTAL | VERTICAL
DEDUCT THICKNESS OF THE FLOOR Us mm US mm US mm
FINISH FROM FRAME HEIGHT
6" 152 [ 11/4" 31 3/4" 19
FINISH: MILL
PROJECT: DATE: 4-20-04
APPLICATION-
CUSTOMER: RECESSED FLOOR/WALL CONDITION SCALE: 1:4

LOCATION:

NO BUMP GLIDE PLATE SEISMIC SYSTEM

DOC: CADJM.016/R2

inpro.

For More Information Visit: Inprocorp.com




	300-A02-025.pdf (p.1)
	Model

	300-A02-050.pdf (p.2)
	Model

	300-A02-075.pdf (p.3)
	Model

	300-A02-100.pdf (p.4)
	Model

	300-A02-150.pdf (p.5)
	Model


